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Junior Inter Botany Model Paper
Section-A

Answer all the questions
(Very short Answer Type) 10x2 = 20

10.

What do the terms 'algal bloom' and ‘red tides' signify?
3o Hoad, DY woen oI HSaren S JrdIeon ?
Name any two plants having single seeded dry fruits?

28 DESo &) DY HoroH IEYPB Both Ko YD Beyod?

What is the morphology of cup like structure in Cyathium? In which family it is found?

DATHAHSD AR) Ko ATE0 HGErarR) Benod? O HeEnow0S® wh ¥y
006 ?

What type of special roots are found in epiphytic plants, what is their function?
55758 H0 InH S D TEDS (H858 B B EEeon? 73 HEhew Beyold?
What is Omega taxonomy?

2o $568Ses g0 9083 A3 ?

What is geocarpy? Name the plant which exhibits this phenomenon?

280 0ol ADB? K AR AR [5e58)0E Iy, Wb Beyold?

What is middle lamella made ofhat is its functional significance?

Baess HLOE BV YA ¢0en0d? TR Dew O DeSore LoggRsd?

What constitutes of DNAre linked by glycosidic bond?

EASNS® D Hosmeen Qgszg&g 2006°Q) BedIe00 ?

Which of the four chromatids of a bivalent at prophase-I of meio-sis can involve in
crossing over?

EoH5Se eI (B $¥-1 BarwoiE* Trenth EPEreESS A 23305570
&/PEHES® Fe&oerom?

Give any two examples of Xerarch succession?

2207 (E3sed8 $o200809 fb@m S0 emrdrdeaey 80&?

www.sakshieducation.com



www.sakshieducation.com

Section - B

Answer any Six of the following.

11.

12.

13.

14.

15.

16.

17.

18.

6x4 =24
What is meant by homosporous and heterosporous pteridophy-tes? Give two exampl
Eééa?oc‘g ez, é)zéjog AL B0 PeSen @08 A3 ? Bot GmedrEnes Trabod.
What are the advantages and disadvantages of two kingdom classification?
Soth Trage $PESe oresapen?
Describe the arrangement of floral members in relation to their insertion on thalamus®

Dy arerren Hardso ¢S 9350 &) D) 20¢3 oSl ?

List three strategies that a bisexual chasmogamous flower can evolve to prevent self
pollination (autogamy)?

e&Hoer Sodo (s H0HESn) VE°HOEERE DE1OR &do Do 3363(5:‘53
BQ) odETroTer Sorrkodd TPahok ?

Which division is necessary to maintain constant chromosome number in all body cel
of multicellular oganisms and why?

2s508es EHSD Keord' RS0 © Sogpg BYOTe Gomreod O SEIS Defes
9353380 ? Q0O ?

Describe the structure of nucleus with neat labeled diagram?

H&0 $558aHo8° BoEsEo Aoy $Pood?

What is the diierence between lenticels and stomata?

P00 Bogren, HE Sogre K&y HgEPsdo ook ?

What measures do you suggest to protect the pollinators?

Jo°H [oRY), JFsezrody w8 é“mgsw@(azé e ({gen ?
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Section -C
Answer any two questions.
2x8 =16

19. Explain how stem is modified variously to performfelieént functions?

DD Hehen ABIQoHE0 EK50 590 %0 O DEore WK Jseenrr Srarodto

B0H0E° DKB0E0E ?
20. Describe the process of fertilization in angiosperms?

0SS De InHE° 267 HodEEn Jedo HEBOBOE?
21. Describe thd.S. of a dicot stem.

&55¥ Des 00 HE*E SpoKod?e
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